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Zmax=X1+2X2

Zmax=X1+3X2

Zmin=X1+4x2

X1+2X2< 8
X1+3X2> 6
X< 3

X120, x2=>0

s/c

Zmax=X1+3X2

X1+x2< 4
4X1+9x2< 36

X1+2X2< 6
x1=> 0, x2>0
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Zmax=X1+4X2

X1+2X2< 8
X1+3X2> 6
X< 3

X120, x2=>0

s/c
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Zmin=10x1+14x>

5x1+2x2>3
6x1+7x2=10
x1=> 0, x2>0

slc

Zmax=5x1+3X2

2X1+X2<8
3X1+2x2<12
x1=> 0, x2>0
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Zmax=100x1+60x2

8x1+2x2<40

6X1+9%2<108

8X1+6X2<96
X120, x2> 0

slc

Zmax=3X1+3X2

X1+2X%2<12
OX1+3x2<527
X1+X2<6
x1=> 0, x2=>0
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X1+2X2< 8 X1+2X2> 8
s/c 3X1+x2<9 s/c 3X1+x2=> 9
X1+X2< 6 X1+X2> 6
x> 0, x2=0 x> 0, x2=0
Zmin=X1+4Xx2
5x1+3x2> 15
s/c X1+2X2> 8
X1+X2< 2
x>0, x2=>0
Zmax=3x1+10x2 Zmax=3X1+3X2
5X1+6X2<10 5X1+6X2<10
s/c< 2x1+7x2<14 s/c< 2x1+2%2<14
X1> 0, x2V X1> 0, x2< 0
Zmin=5X1-4X2 Zmax=5X1+4X>2
2X1+ 5X2 <7 2X1- Bx2 <7
s/c< -3 X1+4x2=9 c< -3 X1+4%x2=5
X1>0,x2>0 X1=>0,x2>0
G sill
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